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Ab R O7E A S M2=])

m SAY: SHEEL (HFE, FxH) GHSA
5 = =] 4 4 2 & A T4dd |8 2
47 ¥ M o= Hli 62659320 17.04%
2lzt ® ® =2 I:II? ‘
! A A 62,659,320 17.04%
L 4 3 = 7 H 107,396,400 29.21%
2l @ = 2 W 121357 X = 2] 3.30%
i A 2 119,532,193 32.51%
7| A 4 H 78,259,920 21.28%
&= N 2 " E 4,841,053 L8| x 1.32%
n o8 2 0y Ei : ‘ B2 H| x 0.00%
A 2 & ¥ =B - Y- 2H| x 0.00%
" 7€ & 2 ¥ g 2 HY e FH| x 0.00%
H LR B%tiﬁsﬂi - | A L 2H| x 0.00%
o o = 7 HI‘ 2,740,000 | (RHZ2H|+ & =)x1.2%)x3,250H & 0.75%
4] 4 Ef ! t7'17 11,295,873 | (M Z2H|+ = FH|) x 3.07%
AMGEZEIL4E N (KN Z b+ & e+ 2H]) x 0.00%
HE7| A SR SRS A | - ‘ (R 24|+ E =+ ZH]) x 0.00%
g Z 2 # 4 5,622,000 | (R 2H|+E =+ ZH|) x 1.53%
A A 102,758,846 | 27.94%
e 71|1 284,950,359 \ 77.49%
e s ai 2| HI‘ 14,247,517 A x 3.87%
0l %; 35,095,7'_60 ‘ (EFAH%E*%FEIHI-IHEHI) X 9.54%
5 =S At | e :ﬂ 334,293,636 l
A B N M t10.0)%: 33,429,364‘ 9.09%
I = = X} HI' 367,723,000 | 100.00%
| |
E 3 At H| 367,723,000 | 100.0%
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SAIIE SEUHA (22)

12 2 Xp: FbUFAIS|AL

25 3 of: I AMAAMOIO| X QUEAMAIAFDIAFN S W 3,325,433,000

3. [E|7|dY : F A HEHUN SO W 778,160,000

4. 27|14 : S HASHENE YO THAHH W 367,723,000

5 FA7189% : 3 YUUYAHUITHTIAHE W 1,145,883,000

O SMNY : L EL(H,E, H+T) UM

=2z 2 ~z o =Y H3 M7 E 2 =271 43 FAHZIES
o7t = X = =% = = - =Y

1 M2 =43 1| Al 325,865,080| 325,865080| 103,586,000| 103,586,000 222,279,080| 222,279,080 325,865080| 325,865,080
2 7= E43 1 A 104,242,760 104,242,760
3 AlESHHE 1| 4 | 1,647,361,420| 1,647,361,420| 391,201,000 391,201,000 391,201,000/ 391,201,000
4. 8012 1| A 165,527,407 165,527,407 58,224,993 58224993|  26,036560| 26,036,560  84,261,553| 84,261,553
1) & S AbH A 1 2,242,996,667 553,011,993 248,315,640 801,327,633
)7t & 2o (Bl=)x11.3% 1| & 84,576,745 20,074,902 12,135,793 32,210,695
IMHESEHZ (& o+ Z7he )x4.05% 1| A 33,738,262 8,008,020 4,841,053 12,849,073
HJDEBEHE (B o+ 7He)x0.87% 1 Al 7,247,478
S5 AZEHEE (B o)x1.70% 1| 4 14,748,512
6 FEHEE (E| =)x2.49% 1| A 21,582,083
7) QIR QY sE (HZEE 2)x7.238% 1| A 1,088,440
8) ElZ S H &2 (B 1)x2.30% 1 4 17,214,735
9) ArgotE B AT Y| (= +=E] ) =x1.20%+3,2503% 1] 4 24,446,597 4,279,500 2,740,000 7,019,500
10) 7| Ef & b (Rl + 7He + T 2)x6.2% 1] Al 99,759,485 23,773,273 11,295,873 35,069,146
11) dd3le g3 ASEEA =& AFH[)x0.081% 1| Al
12) HM7| Ao CH 2R 2ESM  |(@=ZAF[)x0.56% 1| A 12,560,781
13) &8 2 2 oy (2= AtH|)x1.8% 1 &l 40,373,940 5,622,000 5,622,000
b= 3 A8 Tt 2,600,333,725 609,147,688 284,950,359 894,098,047
LhY HF 2 2| b (7F)x5.0% 1| 4 130,016,686 30,457,384 14,247,517 44,704,901
CLO| 2 (Fh-TH 2 +LE)x15%-9,427 1| Al 292,770,498 67,813,110 35,095,760 102,908,870
132 2 7 o 3,023,120,909 707,418,182 334,293,636 1,041,711,818
2.5 71 7} K| A Z27+9)x10.0% 1 Al 302,312,091 70,741,818 33,429,364 104,171,182
(=2 & H1 3,325,433,000 778,160,000 367,723,000 1,145,883,000




29y HIMX| 7|’ 8= =271 4=Y FHZE=Y
= = w4 =g |4
= =Y =& = o =& 29 = =

1. M2 83 10 A 325,865,080 103,586,000 222,279,080 325,865,080
7t QtEHESI 37,060,000 37,060,000 37,060,000
HzFEH BH(2.0)+HFX[(100TON)+0f|4] 5000 | M3 1,572 7,860,000 5,000 7,860,000 5,000 7,860,000
a2 Hh QR B - A OFE ) [L=8.75KM 5,000 | M3 4,669 23,345,000 5000/ 23,345,000 5000| 23,345,000
SHLARUHEALE), HEH~OFHFL=02KM 5,000 | M3 990 4,950,000 5,000 4,950,000 5,000 4,950,000
HR(ELEE) DZ(32ton) 5,000 [ M3 181 905,000 5,000 905,000 5,000 905,000
Lt BX|H5 7,628,000 7,628,000 7,628,000
4 BH(2.0)+HFX|(100TON)+0il4] 1,000 | M3 1,572 1,572,000 1,000 1,572,000 1,000 1,572,000
M-S HESHT-ZMOFEE) |L=9.85KM 1,000 | M3 4,885 4,885,000 1,000 4,885,000 1,000 4,885,000
SHARUHEHE) YO ~0FEEL=0.2KM 1,000 [ M3 990 990,000 1,000 990,000 1,000 990,000
HA(ELE) DZ(32ton) 1,000 | M3 181 181,000 1,000 181,000 1,000 181,000
Ct. of o3t 191,935,080 191,935,080 191,935,080
HsFEd BH(2.0)+HFX|(100TON)+0ll4] 22,760 | M3 1,584 36,051,840 22,760 36,051,840 22,760 36,051,840
428N 0| oSt Z A ORI |L=12.43KM 22,760 | M3 5672 129,094,720 22,760 129,094,720 22,760| 129,094,720
SHL2HEHE) HHE~0FHEL=0.2KM 22,760 | M3 996| 22,668,960 22,760 22,668,960 22,760 22,668,960
BR(EHLE) DZ(32ton) 22,760 | M3 181 4,119,560 22,760 4,119,560 22,760 4,119,560
2t BrEESET
HsEd BH(2.0)+HEX](100TON)+ 0| 4 M3 1,572
28 EHS-ZMOPEE) |L=15.78KM M3 5,983
SHARUNELE) T~ 0FEFL=0.2KM M3 990
HR(EHLE) DZ(32ton) M3 181
Of. Shitp BN ST T 32,452,000 32,452,000 32,452,000
WuFEd BH(2.0)+HFX[(100TON)+0fl4] 4,000 | M3 1,572 6,288,000 4,000 6,288,000 4,000 6,288,000
A 2uhE LA A ST E-Z M L=12.51KM 4,000 [ M3 5,370 21,480,000 4,000 21,480,000 4,000 21,480,000




E2%Y HIMX| 7| 4= 227142 FAHZIESY
3343 w4 =g (=4
ch 7t =9 =g Ch =& =9 e} = o

SHASUHELE), HAE~0HFL=0.2KM 4,000 [ M3 990 3,960,000 4,000 3,960,000 4,000 3,960,000

HR(ELE) DZ(32ton) 4,000 | M3 181 724,000 4,000 724,000 4,000 724,000

A EHAsdEAsEE 56,790,000 34,074,000 22,716,000 56,790,000

EL =t BH(2.0)+HFX|(120TON)+014 5,000 [ M3 1,572 7,860,000 3,000 4,716,000 2,000 3,144,000 5,000 7,860,000

TR HEAISEE-E A L=29.57KM 5,000 | M3 8,615 43,075,000 3,000 25,845,000 2,000 17,230,000 5000/ 43,075,000

SEARUELE) YOHE~0FEEL=0.2KM 5000 | M3 990 4,950,000 3,000 2,970,000 2,000 1,980,000 5,000 4,950,000

HR(ELE) DZ(32ton) 5000 | M3 181 905,000 3,000 543,000 2,000 362,000 5,000 905,000
2 F=+E =HS i 104,242,760

7t e F-HTE E4F5 54,118,800

s FEM BH(2.0)+HFX|(100TON)+Cil4] 10,800 | M3 1,572| 16,977,600

a2 U A - = Y A OFF L=1.23KM 10,800 | M3 3,258| 35,186,400

HE|(2EN) DZ(32ton) 10,800 | M3 181 1,954,800

Lt ELFEHFTY FE3 M3 25,735,000

HzEH BH(2.0)+HX|(100TON)+0{4 5000 | M3 1,572 7,860,000

SHEHEEHST-HEYAOFE L=2.01KM 5,000 [ M3 3,394| 16,970,000

HA|(EE|AM) DZ(32ton) 5,000 | M3 181 905,000

O AT H EES M3 17,520,630

iz Ed BH(2.0)+HFXI(100TON)+0fl41 3,370 | M3 1,572 5,297,640

A2 HHRFF| 2B K S YA OFF L=2.24KM 3,370 | M3 3,446 11,613,020

HR(FEHLE) DZ(32ton) 3,370 | M3 181 609,970

2t YMFHFH ELS M3 6,868,330

Wz BH(2.0)+HFX|(100TON)+0l4] 1,310 | M3 1,572 2,059,320

A2 Hh( UL F| T - HE UM OFE L=2.46KM 1,310 | M3 3,490 4,571,900

HX(ZELE) DZ(32ton) 1,310 | M3 181 237,110




L= HIMX| 7|42 =271’ FAHZIE=2Y
258 w4 = |9l
ch 7t =29 = =9 -] =% =g =

O AT ELS M3
EL A= BH(2.0)+HEX|(100TON) + 04 M3 1,572
S 2 U YA S E-HZ AAOFF L=4.71KM M3 3,896
X(ELE) DZ(32ton) M3 181
ot 253 EE3 M3
HzEd BH(2.0)+HFX[(100TON)+ 0] 41 M3 1,572
AL BHAEF LA YA OFE{ L=13.01km M3 5,480
FI(REEH) DZ(32ton) M3 181

3 AE2HE i 1,647,361,420 391,201,000 391,201,000
SA2UH D(ZAOFEE-DOE])  |L=28.40KM 122,300 [ M3 10,573| 1,293,077,900 37,000 391,201,000 37,000 391,201,000
SHRELDEZEYAOFEE- 195 1=59.70KM 20,480 | M3 17,299| 354,283,520

4. 20iF 2| Al 165,527,407 58,224,993 26,036,560 84,261,553
7t EMREX|SF HX| B HA 67,901,800 25,165,400 11,714,000 36,879,400
QEMUX|EX LB (2 h=3~5m, 1Z7t=20m 400 M 67,257| 26,902,800 200 13,451,400 200 13,451,400
QEMUX| UMK UHH(RALE)  |h=3~5m, 18Z=20m 1,400 M 29,285| 40,999,000 400 11,714,000 400 11,714,000 800| 23,428,000
Lt 20| X & 0|F 213,715 213,715
7hd E1 (3x6%2.6) ZHolH4 11 & 427,430 427,430 05 213,715 0.5 213,715
ZH0|H0|STHI] (3x6x%2.6) ZH[olY 1| & 125,726 125,726
Ch AR iz 9= 863,000 7,767,000 4 3,452,000 4 3,452,000
2t A=A 23| 4,027,320 4,027,320
NS -1 =V E=pikw] £84316,000L/HR 70 | day 134,244 9,397,080 30 4,027,320 30 4,027,320
of, MlEAlE 6,319,358 6,319,358
ME7| 2% 2 sA| HX[12] 81412 11 = 1,255,457 1,255,457 05 627,728 0.5 627,728
NE7|&H7 50kw 70| ¥ 189,721 13,280,470 30 5,691,630 30 5,691,630
bt e 7|dE 6,672,000 14,322,560 20,994,560
M7 B.H 20 25,760 | m3 556| 32,381,440 12,000 6,672,000 25760 14,322,560 37,760 20,994,560




I 7]’ =A

0x
oy

ML

74 g |24
o 7t =Y =% =% =%
3,411,200 3,411,200
12 30ton(R,74) 1] = 1,078,750 1,078,750 215,750 0.2 215,750
1923 (2 X, HH) 140 | 3 5,871 821,940 352,260 60 352,260
19 1¢ 70| ¢ 94,773 6,634,110 2,843,190 30 2,843,190
1742 * 20! 70| ¢ 189,547 13,268,290 5,686,410 30 5,686,410
68| Km 109,253 7,429,204 3,277,590 30 3,277,590
L=34kM 30 | TON 14,462 433,860
S 178 50 | TON 49,237 2,461,850
EY +E, UZAIE(KS P 1] 14 863,000 863,000




